SRR - B AR EREREQ (H21-H30) (%

)

ZE 21 ZIE 25 ZIE 29 T 33 ZIE 37
1 8 1 28 1 -7 1 21 1 =5
2 -13 2 _21_4 2 % 2 11_2 9 %
3 3a-2b+12 3 3241 3 4x-y-4 3 -a+4b 3 -8a+3b+3
4 —12x° 4 4y 4 12b2 4 2x-y 4 3z
5 5 5 2,2 5 1+2/5 5 64,5 5 0
6 —3x-6 6 222+2x-19 6 17x+13 6 b5:2-2x-16 6 20-x-6
'-::g P 332 =7 .',SE Z 32
=EiE 22 =E 26 =8 30 EE 34 =g 38
1 -6 15 111 4 5
2 2 2 75 2 3 2 4 2 15
3 Tx-7y+2 3 I1lx-dy 3 briy+s 3 sx-2y 3 b5x-11
4 4 da-2 4 3a+b 4 -12v? 4 6
5 313 5 2+8/5 5 3.2/7 5 6-5/3 5 7-3/3
6 -15x+19 6 6x-34 6 22+ 601 6 202+5x+29 6 4x-24
Eik 23 ik 27 =IE 31 EIE 35 I 39
1 21 1 4 . 132 1 -9
1
2 7z 2 2 -14 2 1% 2 £
3 Ba+4b 3 8a+7b+9 3 2a-3b+20 3 5a+5b+4 3 4x-y-4
4 3x-y 4 -3 4 8z 4 -7y 4 18b°
5 6+.5 5 8 5 5 5 2/2 5 3+2/3
6 102°-2-13 6 2x7-9x+13 6 —br+2 6 2x2+2x-31 6 17r+30
e T = == = 2 3z
=E 24 =g 28 g 32 ZIE 36 =IE 40
1 -7 1 6 1 4 (I 1 8
9 _21_4 2 o 2 % 2 75 9 _%
3 2x-y 3 bsx—4y-13 3 T7x-6y+3 3 Mx-y 3 bx+6y+1
4 —6b? 4 6a% 4 4y 4 sa-l 4 Sa+b
5 6-5.2 5 7-33 5 245 5 243 5 3-2/2
6 222 +2x+21 6 dx—II 6 —I5x+19 6 6x-25 6 92245543




